(25) ®rpee £

ArE o AP R R ¢ 3 mihad o 40(35)f0(=14) o AP v BT
Ho#-BeEBEVNE Z nBEKF > 0T M3 2 640(3,1,4) ~ (4,—1,5,-2)

ii’ﬁ{$§°%% Bregz7 nBFE&F  APReBFrEALRPTE o

2REPEFNER2RZRE O E  APRAFAIATE AT EIE IR

G M

(5)/3_.‘
C
— b—>
C
B
a
A
A = (1,0,0)
B = (1,1,0)
=(1,1,1)

&:(1—11 0,0 — 0) = (0,1,0)
b=(1-11-1,1-0)=(00,1)
i=(1-1,1-0,1-0)=(011)

AR aﬁ@k@éﬁ
=(0x0+1x04+0x0)=0
» @frb 2T ApEE o

'Jg Cfraz . B ehd 26

25-1



0 c-a O0X04+0x1+1x1 1
c0SO0 = —5—= = —
I€]ld] VOZ+ 12 +12xV0Z+12+02 2
.H_T[

“O=7

(6)7 F=g

A=(121)

B =(-1,12)

C=(21-1)

ABz e d=(1-(-1),2-1,1-2)=(21,-1)
ACz e ¥b=(1-22-11-(-1)) = (-1,1,2)

AB{rACz B ind & 5 6

Qu
[l

cos @ =

Qu
S

G-b=2Xx(-D+1x1+(-1)x2=-2+41-2=-3

ld| =22+ 12+ (-1)2 =6

bl =/ (-D2+12+22 =6

-3 -3 1

J6xv6 6 2

s cos0 =

6 =120°

25-2



= d-b<|d||b|

AT A A

(73K
d=(423)
b=(121)

G-b=4x1+2x2+3x1=4+4+3=11
ldl =42 +22+32 =16 +4+9 =29 =54
bl =12 + 22+ 12 =6 = 2.4

«|d||b] = 5.4 x 2.4 = 12.96
~d-b=11<|d||b| = 12.96

Jir a2 238 APRP - B ABTHES 2

b+c a+c a+b
+ + >
a b c

25-3



B 7 e

S 1 1
€a= (alJaZJa3) = (\/— ’ \/E ’ %)
1 1 1
a, =— A, = I Ay = —
"Va Y Vb e

£ b = (by, by, b3) = (Va » Vb » o)

.‘.blz\/—szz\/zﬂb3:\/z

S 1 1 1
AXb=—XvVa+—=%XVb+—=X+c=1+1+1=3
va Vb Ve

Hygpfta 2 &3¢

1 2 1 2 iz 2 2 2
3s\/((ﬁ () +(ﬁ))x((ﬁ) +(Vb) + (Vo))

35\/(§+%+§)x(a+b+c)

@b+ X (et >0
“@tb+)XGH )2

a+b+c a+b+c a+b+c
+ + >9
a b c

a b+c b a+c ¢ a+b
a a b b c c

b+c a+c a+b
3+ + + =9
a b c

b+c a+c a+b
: + + > 6
a b c

25-4



(8)2a=3'b=1'c=4

b+c+a+c+a+b_1+4+3+4+3+1_5+7+1_8+5>6
a b c 3 1 4 3 3

25-5



